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Question: 1

At most, how many buttons can the application toolbar have on the screen?
A. 20

B. None of the above

C. 35

D. 10

E. 30

Answer: C

Question: 2

What is the allowed length of the ABAP Dictionary data type DF34_RAW?
A. The allowed length is between 1 and 34 digits.
B. The allowed length is 34 digits.
C. The allowed length is between 1 and 31 digits

D. The allowed length is between 0 and 33 digits.

Answer: B

Question: 3

What are the differences between displaying in a full screen and in a container? Select all that apply.
(S. 503){2 Richtig}

A. Only a full-screen ALV allows the use of event handling.

B. The full screen requires Dynpro programming.

C. Only an ALV in a container allows the use of event handling
D

. Any type of ALV allows the use of event handling.

m

The only difference is that the container name must be specified when creating the ALV object.

F. The container requires the use of an additional object (a container control).

Answer: D F
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Question: 4

Subclasses inherit all the components of the parent class.
A. False

B. True

Answer: B

Question: 5

If you enter the value "0" or blank (") as the next screen, then the system

resumes processing from the point at which the screen was initiated, assuming the Next Screen
attribute isoverridden

dynamically in the program.
A. True

B. False

Answer: A

Question: 6

Identify the types of controller. Select all that apply.
A. Consumer controller
B. View controller
C. Window controller
D. Component controller
E. Custom controller

F. Configuration controller

Answer: BCDEF
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Question: 7

Which modularization units can raise an exception? Select all that apply
A. Methods
B. Subroutines (FORM routines)

C. Function modules

Answer: ABC

Question: 8

Which of the following is a true statement? Select all that apply
A. A package can be nested.
B. All customer repository objects have to be assigned to a package.
C. Packages use interfaces and visibility to make their elements visible to other packages.

D. The transport layer is a mandatory input field for the package

Question: 9

When starting the Debugger, what circumstance causes the runtime error
DEBUGGING_NOT_POSSIBLE?

A. When the number of debugging sessions on the server exceeds the value '—' defined by the pro
parameter rdisp/wpdbug_max_no

B. Starting a non-exclusive mode in a productive system

C. When more than five sessions are already associated with this login user

Answer: B




Question: 10

Each ABAP program starts with an introductory statement. Which statements are correct? Select
all that apply.

A. The introductory statement must be the first statement in the program.
B. The introductory statement must be the first line in the program
C. The introductory statement can be modified.

D. The introductory statement must never be modified.

Answer: BC




